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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheet.

1- Your little brother --------- to college or thinking of marnage by the time you come back.

1) will go 2) is going 3) will have gone 4) will be going
2- The deficit -=------- so large, we will probably have to pay additional taxes.

1) grows 2) 1s growing 3) had grown 4) was growing
3- 1tned to persuade him to join me, but in the end I ---—--

1) had on 2) give up 3) gave up 4) have back
4- The girl takes =-=-==~- her mother rather than her father.

1) to 2) up 3) before 4) after
5- To get some money from the insurance company, he had had his store -----— up last year.

1) blew 2) blow 3) blown 4) blowing
6- The telephone lines were ~-=------ when the truck hit the pole.

1) damaged 2) wounded 3) harmed 4) injured
7- Doing a thing over and over again makes it a ==--—-- .

1) habit 2) hobby 3) practice 4) performance
8- Make sure you -—---- that present carefully or it may get damaged in the post.

1) flourish 2) consume 3) wrap 4) dispatch
9- If you want antibiotics, you'll have to ask the doctor for a ~----.

1) receipt 2) recipe 3) medicine 4) prescription
10- As you’ve arrived late, you’ll have to ------ the time you have lost.

1) make off with 2) make up for 3) make out 4) make for

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Dear Mr de Oliveira,

Thank you very much for coming to see us in London the day before yesterday. We were very
(—1]—-) with your interview and would like to offer you the position of Marketing Manager (Antibiotics) for
South America. We would like you to start in three months’ time.

After a one-year (—-—12-—-), we expect to see our market share grow. We are sure you can help us to ( J13—) this.
The starting salary will be $85.000 p.a. plus car and full medical insurance. In the second year, this will rise
to $90,000. You will also receive regular profit shares based on sales (~———I14——) for your area.

If you would like to accept this offer, please contact me at the above address and we will draw up a contract.
I look forward (——15—) from you.

Yours sincerely.
11- 1) impressed 2) surprised 3) interested 4) appreciated
12- 1) date 2) occasion 3) stance 4) period
13- 1) assuine 2) succeed 3) achieve 4) perform
14- 1) figure 2) statistics 3) account 4) number

15- 1) hear 2) to hearing 3) to hear 4) hearing
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Part C. Reading umprehensiun

Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4).

Then mark if on your answer sheet.
The son of wealthy and influential Athenian parents, Plato began his
philosophical career as a student of Socrates. When the master died, Plato
travelled to Egypt and Italy, studied with students of Pythagoras, and spent
several years advising the ruling family of Syracuse. Eventually, he
returned to Athens and established his own school of philosophy at the
Academy. For students enrolled there, Plato tried both to pass on the
heritage of a Socratic style of thinking and to guide their progress through
mathematical learning to the achievement of abstract philosophical truth.
The written dialogues on which his enduring reputation rests also serve
both of these aims.
In his earliest literary efforts, Plato tried to convey the spirit of Socrates's
teaching by presenting accurate reports of the master's conversational

interactions, for which these dialogues are our primary source of
information. Early dialogues are typically devoted to investigation of a
single 1ssue, about which a conclusive result is rarely achieved. Thus, the
Euqufrwn raises a significant doubt about whether morally right action can
be defined in terms of divine approval by pointing out a significant
dilemma about any appeal to authority in defence of moral judgments. The
Apologhma (Apology) offers a description of the philosophical life as
Socrates presented it in his own defense before the Athenian jury.

According to the passage, -------—- -- was the son of —-------- Athenian parents.

1) plato, rich and important 2) Socrates, rich and important

3) plato, impoverished and ineffective 4) Socrates, impoverished and ineffective
When did Plato travel to Egypt and Italy to study with students of Pythagoras?

1) when Pythagoras's father died. 2) when Socrates's lord died.

3) when Pythagoras died. 4) when Socrates died.

Plato's dialogues on which his reputation rests aim to ----—-—- ;

1) transfer the Socratic way of thinking to the next generation
2) achieve abstract philosophical truth by means of mathematical learning
3) endure his reputation through conveying the spirit of Socrates's teaching

4)both1 & 2

What does the word 'accurate' mean in line 122

1) authentic 2) imprecise 3) mathematical 4) wrong

Plato's early dialogues are ---——-—- -- the issues about which one cannot reach a clear
conclusion.

1) allocated to 2) reserved 3) set apart to 4)both 1& 3
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Shortly after the end of the first World War, a group of mathematicians,
scientists, and philosophers began meeting in Vienna to discuss the
implications of recent developments in logic, including Wittgenstein's
Tractatus. Under the leadership of Moritz Schlick, this informal gathering
(the "Vienna Circle") campaigned for a systematic reduction of human
knowledge to logical and scientific foundations. Because the resulting
logical positivism (or "logical empiricism") allowed only for the use of
logical tautologies and first-person observations from experience, it
dismissed as nonsense the metaphysical and normative pretensions of the
philosophical tradition. Although participants sometimes found it difficult
to defend the strict principles on which their programme depended, this
movement offered a powerful vision of the possibilities for modern
knowledge.

During the thirties, many of the younger positivists left Europe for England
and the United States, where their influence over succeeding generations

was enormous. Herbert Feigl and Otto Neurath concentrated on the
philosophy of science, developing and refining systematic principles for
study of the natural world. Mathematician Kurt Gédel used sophisticated
reasoning to explore the limits of the logicist programme. Others became
interested in the philosophy of language: Gustav Bergmann continued
efforts to achieve a perspicuous representation of reality through an ideal
logical language, while Friedrich Waismann began to examine the analysis

of ordinary language.

When was the Vienna Circle established?

1) As soon as Moritz Schlick accepted its leadership.

2) Soon after the first World War.
3) Shortly after Wittgen Stein's death.

4) both 2&3

Logical positivism —--------- the metaphysical ---——---- of the traditional philosophy.

1) banished, claims 2) banished, affections  3) rejected, claims 4) rejected, affections
Participants --------—- to defend their principles, but their movement ------- -- modern
knowledge.

1) at times found it difficult, hampered the activities of

2) almost always found it hard, cast a light on the possibilities for

3) at times found it hard, cast a light on the possibilities for

4) occasionally found it difficult, hampered the activities of

What does"succeeding” refer to in line 157

1) earlier 2) previous 3) preceding 4) subsequent
Bergmann tried to represent reality -----—--- whereas Waismann began to analyse
1) by means of a natural language, ideal logical language

2) by means of a logical language, natural language

3) through an ordinary language, logical language

4) through a logical language, ideal natural language

—
]
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The most common way of preventing or eliminating differences in the use
of languages is by agreeing on the definition of our terms. Since these
explicit accounts of the meaning of a word or phrase can be offered in
distinct contexts and employed in the service of different goals, it's useful
to distinguish definitions of several kinds:

A lexical definition simply reports the way in which a term is already used
within a language community. The goal here is to inform someone else of
the accepted meaning of the term, so the definition is more or less correct
depending upon the accuracy with which it captures that usage. In these
pages, my definitions of technical terms of logic are lexical because they
are intended to inform you about the way in which these terms are actually
employed within the discipline of logic.

At the other extreme, a stipulative definition freely assigns meaning to a

completely new term, creating a usage that had never previously existed.
Since the goal in this case is to propose the adoption of shared use of a
novel term, there are no existing standards against which to compare it, and
the definition is always correct (though it might fail to win acceptance if it
turns out to be inapt or useless). If I now decree that we will henceforth
refer to Presidential speeches delivered in French as "glorsherfs," I have

made a (probably pointless) stipulative definition.

What does the passage mainly discuss? | +
1) The difference in the use of languages. 2) The definition of logical terms.

3) The distinction between kinds of definitions. 4) The agreement on the use of languages.
What does"a lexical definition" refer to?

1) The way in which the accepted meaning of a word is given.

2) The way in which a word is used in a given language society-

3) The accepted meaning and usage of a term in a discipline such as philosophy.

4)The accepted meaning and usage of a term in a discipline such as logic.

What does "stipulative" mean in line 13?

1) arbitrary 2) depending on will

3) based upon agreement 4) all of them

What is the goal in a stipulative definition?

1) To modify the shared use of a new word. 2) To adapt the common use of a novel term.
3) To accept the shared use of a new word . 4) To adjust the common use of a novel term.
If the new term ---------- , it might -------—- win common acceptance.

1) becomes irrelevant, not 2) becomes accurate, fail to

3) turns out to be opposite, not 4) turns out to be fitting, fail to
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